Answer to Week 8’s Summary Question
[image: image1.emf]Your organization has 12 employees, each with his 

or her own stand-alone PC running Windows XP. 

Each computer has a 10 Mbps NIC that could work 

with coaxial cable or twisted pair (see next slide) 

a)

List 

all

the additional hardware you would have 

to buy in order to install a 100BaseTX LAN. Be 

very sure that you list all the things the 

organization will have to buy. The organization 

wishes to provide [Internet] email service, file 

service, and print sharing with four existing 

printers fed with parallel ports. 

b)

How many ports should the hub or switch have? 

Explain.


The following table from the course textbook shows the different Ethernet standards.

[image: image2.emf]
It shows that in order to implement the 100BaseTX Ethernet standard; you need Category 5 or higher unshielded twisted pair. 
In addition, the hub or the switch must be capable of sending/receiving at 100 Mbps. So, a hub or switch that can operate at 100 Mbps (i.e. a 100BaseTX hub or switch) is required to implement the 100BaseTX Ethernet standard. Also, the NICs must match the hub/switch speed. So, you will need NICs that can also send and receive at 100 Mbps. 

You will need to buy a dedicated Server in order to provide the services that need to be provided (file service, email service, etc.). Furthermore, as mentioned in the case, the email service need to be provided through the Internet which suggest that some sort of hardware for Internet connection (like a router, a DSL modem, etc.) will be needed.
a) Here is all what you need to get:

	Hardware

	1 server with a 100BaseTX Ethernet NIC

	12 NICs for the existing PCs because the 10 Mbps NIC cannot be used to implement the 100BaseTX LAN

	Category 5 UTP cables or better

	1 100BaseTX hub or switch

	4 printer server devices in order to connect all 4 printers to the network

	The company might need to get 4 parallel or USB cables to connect the printers to the print server devices, assuming that they don’t have them.

	Hardware devices for Internet connection (e.g. 1 DSL modem, 1 router)


b)
You need to get a hub or switch with enough ports to connect the following:

- 12 client PCs

- 1 server

- 4 print server devices

- 1 router

So, you need a hub or a switch with a least 18 ports. In this case it’s a good idea to get a hub or a switch with 24 ports to allow some room for growth.
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